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lkekU; v/;;u /GENERAL STUDIES 
 

iz’u&i=&4/Paper – 4 
 
 
 
 

iz’u&i= ds fy, fof’k"V vuqns’k 
¼mŸkj nsus ds iwoZ fuEufyf[kr funsZ’kksa dks d`Ik;k lko/kkuhiwoZd i<+sa½ 

 
nks [k.Mksa esa dqy pkSng iz’u fn, x, gSa tks fgUnh ,oa vaxzsth nksuksa esa Nis gSaA 
lHkh iz’u vfuok;Z gSaA 
 
izR;sd iz’u ds vad mlds lkeus fn, x, gSaaA 
 
izR;sd iz’u@Hkkx ds fy, fu;r vad mlds lkeus fn, x, gSaa 
 
iz’uksa ds mŸkj mlh ek/;e esa fy[ks tkus pkfg,] ftldk mYys[k vkids izos’k&i= esa fd;k x;k gS] vkSj bl ek/;e dk Li"V mYys[k 
iz’u&lg&mŸkj ¼D;wŒlhŒ,Œ½ iqfLrdk ds eq[k&i`"B ij vafdr fufnZ"V LFkku ij fd;k tkuk pkfg,A izkf/kd`r ek/;e ds vfrfjä vU; 
fdlh ek/;e esa fy[ks x, mŸkj ij dksbZ vad ugha feysaxsA 
 
iz’uksa dh 'kCn lhek] tgk¡ mfYyf[kr gS] dks ekuk tkuk pkfg,A 
 
iz’u&lg&mŸkj iqfLrdk esa [kkyh NksM+s x, dksbZ i`"B vFkok i`"B ds Hkkx dks iw.kZr% dkV nhft,A 

 

 

QUESTION PAPER SPECIFIC INSTRUCTIONS 
(Please read each of the following instruction carefully before attempting questions) 

There are FOURTEEN questions divided in two sctions and printed both HINDI and in ENGLISH. 

All the questions are compulsory. 

The number of marks carried by a question/part is indicated against it. 

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly 
on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for 
answers written in a medium other than the authorized one. 

Word limit in questions, wherever specified, should be adhered to. 

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly struck off. 

vf/kdre vad % 250 
Maximum Marks  : 250 

fu/kkZfjr le; % rhu ?kaVs 
Time Allowed : Three Hours 
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iz’uksa ds mŸkj cU/kuh esa fofufnZ"V 'kCn lhek ls T;knk u gksaA mŸkj dh fo"k;&oLrq 'kCn lhek ls vf/kd egŸoiw.kZ gSA 
 
Answer questions in NOT MORE than the word limit specified for each in the parenthesis. Content of the 
answer is more important than its length. 
 

[k.M & A / SECTION – A 
 
1. (a) ^i;kZoj.kh; uSfrdrk^ dk D;k vFkZ gS \ bldk v/;;u djuk fdl dkj.k egRoiw.kZ gS \ Ik;kZoj.kh; uSfrdrk dh n`f"V ls fdlh 

,d Ik;kZoj.kh; eqís ij ppkZ dhft,A ¼150 'kCn½ 

What is meant by ‘environmental ethics’? Why is it important to study? Discuss any one environmental 
issue from the viewpoint of environmental ethics. (150 words)              10 

(b) fuEufyf[kr ds chp foHksnu dhft, ¼200 'kCn½ 

 Differentiate between the following (200 words)               10 

¼i½ fof/k vkSj uSfrdrk 

Law and Ethics 

    ¼ii½ uSfrd izca/ku vkSj uSfrdrk dk izca/ku 

Ethical management and Management of ethics 

    ¼iii½ HksnHkko vkSj vf/kekuh cjrko 

Discrimination and Preferential treatment 

    ¼iv½ oS;fäd uSfrdrk vkSj laO;kolkf;d uSfrdrk 

Personal ethics and Professional ethics 

2. uSfrd fopkjdksa@nk’kZfudksa ds nks vorj.k fn, x, gSaA izdk’k Mkfy, fd buesa ls izR;sd ds] orZeku lanHkZ esa] vkids fy, D;k 
ek;us gSa % 

Given are two quotations of moral thinkers/philosophers. For each of these, bring out what it means to 
you in the present context : 

 ¼a½ Þdetksj dHkh ekQ ugha dj ldrs( {kek’khyrk rks rkdroj dk gh lgt xq.k gSAß ¼150 'kCn½ 

  “The weak can never forgive; forgiveness is the attribute of the strong.” 

(150 words)                10 
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¼b½  Þge cPps dks vklkuh ls ekQ dj ldrs gSa] tks va/ksjs ls Mjrk gS( thou dh okLrfod foMacuk rks rc   

gS] tc euq"; izdk’k ls Mjus yxrs gSaAß ¼150 'kCn½ 

“We can easily forgive a child who is afraid of the dark; the real tragedy of life is when men are 
afraid of the light.” (150 words)               10 

3. (a) Þdsoy dkuwu dk vuqikyu gh dkQh ugha gSA yksd lsod esa] vius drZO;ksa ds izHkkoh ikyu djus ds fy,] uSfrd eqíksa ij 

,d lqfodflr laosnu&’kfä dk gksuk Hkh vko’;d gSAß D;k vki lger gSa \ nks mnkgj.kksa dh lgk;rk ls Li"V dhft,] 

tgk¡ ¼i½ d`R; uSfrdr% lgh gS] ijarq oS/k :Ik ls lgh ugha gS rFkk ¼ii½ d`R; oS/k :Ik ls lgh gS] ijarq uSfrdr% lgh ugha 

gSA ¼150 'kCn½ 

A mere compliance with law is not enough, the public servant also has to have a well-developed 

sensibility to ethical issues for effective discharge of duties.” Do you agree? Explain with the 

help of two examples, where (i) an act is ethically right, but not legally and (ii) an act is legally 

right, but not ethically. (150 words)               10 

   ¼b½ fo’oluh;rk vkSj lgu&’kfä ds ln~xq.k yksd lsok esa fdl izdkj iznf’kZr gksrs gSa\ mnkgj.kksa ds lkFk LIk"V dhft,A 
¼150 'kCn½ 

How do the virtues of trustworthiness and fortitude get manifested in public service? Explain 
with examples. (150 words)               10 

4. (a)  Þlkekftd ewY;] vkfFkZd ewY;ksa dh vis{kk vf/kd egŸoiw.kZ gSaAß 

  jk"Vª dh lekos’kh lao`f) ds lanHkZ esa mijksä dFku ij mnkgj.kksa ds lkFk ppkZ dhft,A ¼150 'kCn½ 

  “Social values are more important than economic values”  

Discuss the above statement with examples in the context of inclusive growth of a nation. (150 
words)                  10 

    (b) gky esa gqbZ dqN izxfr;k¡] tSls fd lwpuk dk vf/kdkj ¼vkjŒVhŒvkbŒ½ vf/kfu;e] ehfM;k vkSj U;kf;d lfØ;rk bR;kfn] 

ljdkj ds dk;ksZa esa igys ls vf/kd ikjnf’kZrk vkSj tokcnsgh ykus esa lgk;d lkfcr gks jgh gSaA fQj Hkh] ;g Hkh ns[kk 

tk jgk gS fd dHkh&dHkkj bu lk/kuksa dk nq#i;ksx fd;k tkrk gSA ,d vU; udkjkRed izHkko ;g gS fd vf/kdkjhx.k 

vc 'kh?kz fu.kZ; ysus ls Mjrs gSaA 

bl fLFkfr dk foLrkjiwoZd fo’ys"k.k dhft, vkSj lq>kb, fd bl f}Hkktu dk gy fdl izdkj fudkyk tk ldrk gSA 

lq>kb, fd bu udkjkRed izHkkoksa dks fdl izdkj U;wurehd`Rk fd;k tk ldrk gSA ¼150 'kCn½ 
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Some recent developments such as introduction of RTI Act, media and judicial activism, etc., are 

proving helpful in bringing about greater transparency and accountability in the functioning of 

the government. However, it is also being observed that at times the mechanisms are misused. 

Another negative effect is that the officers are now afraid to take prompt decisions. 

Analyze this situation in detail and suggest how this dichotomy can be resolved. Suggest how 

these negative impacts can be minimized. (150 words)            10 

5. yksd lsodksa dh vius dk;Z ds izfr iznf’kZr nks vyx&vyx izdkjksa dh vfHko`fŸk;ksa dh igpku vf/kdkjhra=h; vfHko`fŸk vkSj 

yksdrkaf=d vfHko`fŸk ds :Ik esa dh xbZ gSA 

 ¼d½ bu nks inks ads chp foHksnu dhft, vkSj muds xq.kksa&voxq.kksa dks crkb,A 

 ¼[k½ vius ns’k dk rsth ls fodkl dh n`f"V ls csgrj iz’kklu ds fuekZ.k ds fy, D;k nksuksa esa larqyu   

LFkkfir djuk laHko gS \           ¼150 'kCn½ 

Two different kinds of attitudes exhibited by public servants towards their work have been identified as 

the bureaucratic attitude and the democratic attitude. 

(a) Distinguish between these two terms and write their merits and demerits. (150 words) 

(b) Is it possible to balance the two to create a better administration for the faster  development of 
our country?  (150 words)              10 

6. vkt ge ns[krs gSa fd vkpkj lafgrkvksa ds fu/kkZj.k] lrdZrk lsyksa@vk;ksxksa dh LFkkiuk] vkjŒVhŒvkbŒ] lfØ; ehfM;k vkSj fof/kd 

;kaf=dRoksa ds izcyu tSls fofHké mik;ksa ds ckotwn Hkz"Vkpkjiw.kZ deZ fu;a=.k ds v/khu ugha vk jgs gSaA 

 ¼d½ bu mik;ksa dh izHkko’khyrk dk vkSfpR; crkrs gq, ewY;kadu dhft,A 

 ¼[k½ bl [krjs dk eqdkcyk djus ds fy, vkSj vf/kd izHkkoh j.kuhfr;k¡ lq>kb,A ¼150 'kCn½ 

Today we find that in spite of various measures like prescribing codes of conduct, setting up vigilance 

cells/commissions, RTI, active media and strengthening of legal mechanisms, corrupt practices are not 

coming under control. 

(a) Evaluate the effectiveness of these measures with justifications. 

(b) Suggest more effective strategies to tackle this menace. (150 words)              10 
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7. vUrjkZ"Vªh; Lrj ij] vf/kdka’k jk"Vªksa ds chp f}i{kh; laca/k] vU; jk"Vªksa ds fgrksa dk lEeku fd, fcuk Lo;a ds jk"Vªh; fgr dh 

izkséfr djus dh uhfr ds }kjk fu;af=r gksrs gSaA blls jk"Vªksa ds chp }a} vkSj ruko mRié gksrs gSaA ,sls rukoksa ds lek/kku esa 

uSfrd fopkj fdl izdkj lgk;d gks ldrs gSa \ fof’k"V mnkgj.kksa ds lkFk ppkZ dhft,A ¼150 'kCn½ 

At the international level, the bilateral relations between most nations are governed on the policy of 

promoting one’s own national interest without any regard for the interest of other nations. This leads to 

conflicts and tensions between the nations. How can ethical consideration help resolve such tensions? 

Discuss with specific examples. (150 words) 

 

8. yksd lsodksa ds le{k ^fgr la?k"kZ ¼dfU¶yDV vkWQ bUVjsLV½^ ds eqíksa dk vk tkuk laHko gksrk gSA vki ^fgr la?k"kZ^ in ls D;k 

le>rs gSa vkSj ;g yksd lsodksa ds }kjk fu.kZ;u esa fdl izdkj vfHkO;ä gksrk gS \ ;fn vkids lkeus fgr la?k"kZ dh fLFkfr iSnk 

gks tk;] rks vki mldk gy fdl izdkj fudkysaxs \ mnkgj.kksa ds lkFk Li"V dhft,A ¼150 'kCn½ 

Public servants are likely to confront with the issues of ‘Conflict of Interest’. What do you understand 

by the term ‘Conflict of Interest’ and how does it manifest in the decision making by public servants? If 

faced with the conflict of interest situation, how would you resolve it? Explain with the help of 

examples. (150 words)                  10 

[k.M & B / SECTION – B 

9- ,d futh daiuh viuh n{krk] ikjnf’kZrk vkSj deZpkjh dY;k.k ds fy, fo[;kr gSA ;|fi daiuh dk ekfyd ,d futh O;fä gS] 

rFkkfi mldk ,d lgdkfjrk okyk vkpj.k gS tgk¡ deZpkjh LokfeRo dh Hkkouk j[krs gSaA daiuh esa yxHkx 700 dkfeZd fu;qä gSa 

vkSj mUgksaus LosPNkiwoZd la?k u cukus dk fu.kZ; fy;k gSA 

 vpkud ,d fnu lqcg ,d jktuhfrd ikVhZ ds 40 vkneh t+cjnLrh QSDVªh esa ?kql vk, vkSj QSDVªh esa ukSdjh ek¡xus yxsA mUgksaus 

izca/ku vkSj deZpkfj;ksa dks /kefd;k¡ vkSj xkfy;k¡ Hkh nhA deZpkfj;ksa dk eukscy fxjkA ;g Li"V Fkk fd tks yksx t+cjnLrh ?kql 

vk, Fks] os daiuh ds osru&i=d esa gksuk pkgrs Fks vkSj lkFk ikVhZ ds Lo;alsod@lnL; cus jguk pkgrs FksA 

 daiuh bZekunkjh ds mPp ekudksa dks cuk, j[krh gS vkSj flfoy iz’kklu] ftlesa dkuwu izorZu vfHkdj.k Hkh 'kkfey gS] dk dksbZ 

vuqxzg ugha djrhA bl izdkj ds izlax lkoZtfud {ks=d esa Hkh ?kVrs gSaA 

¼d½ eku yhft, fd vki daiuh ds eq[; dk;Zdkjh vf/kdkjh ¼lhŒbZŒvksŒ½ gSaaA vki minzoh HkhM+ ds xsV ds vanj tcju ?kql 

vkus vkSj daiuh ifjlj ds Hkhrj /kjuk nsus dh rkjh[k dks izpaM fLFkfr ds fu"izHkkou ds fy, D;k djsaxs \ 

¼[k½ bl ekeys esa pfpZr eqís dk nh?kZdkyhu lek/kku D;k gks ldrk gS \ 
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¼x½ izR;sd lek/kku@dkjZokbZ dk] ftldks vki lq>k,¡xs] vki ij ¼lhŒbZŒvksŒds rkSj ij½] deZpkfj;ksa ij vkSj deZpkfj;ksa ds 

fu"iknu ij ldkjkRed vkSj udkjkRed izHkko iM+sxkA vius }kjk lq>kbZ xbZ dkjZokb;ksa esa ls izR;sd ds ifj.kkeksa dk 

fo’ys"k.k dhft,A                  ¼250 'kCn½ 

A private company is known for its efficiency, transparency and employee welfare. The company 

though owned by a private individual has a cooperative character where employees feel a sense of 

ownership. The company employs nearly 700 personnel and they have voluntarily decided not to form a 

union. 

One day suddenly in the morning, about 40 men belonging to a political party gatecrashed into the 

factory demanding jobs in the factory. They threatened the management and employees, and also used 

foul language. The employees feel demoralized. It was clear that those people who gate-crashed wanted 

to be on the payroll of the company as well as continue as the volunteers/members of the party. The 

company maintains high standards in integrity and does not extend favours to civil administration that 

also includes law enforcement agency. Such incidents occur in public sector also. 

 

(a)  Assume you are the CEO of the company. What would you do to diffuse the volatile situation on 

the date of gate-crashing with the violent mob sitting inside the company premises? 

 

(b) What could be the long-term solution to the issue discussed in the case? 

 

(c)  Every solution/action that you suggest will have a positive and a negative impact   on you (as 

CEO), the employees and the performance of the employees. Analyze the consequences of each of your 

suggested actions. (250 words)                 20 

10- vki ,d iapk;r ds ljiap gSaaA vkids {ks= esa ljdkj }kjk pyk;k tk jgk ,d izkbejh Ldwy gSA Ldwy esa mifLFkr gksus okys cPpksa 

dks fnol&e/; Hkkstu ¼feM&Ms ehy½ fn;k tkrk gSA gsMekLVj us vc Hkkstu rS;kj djus ds fy, ,d u;k jlksb;k fu;qä dj 

fn;k gSA ijarq tc ;g irk pyk fd jlksb;k nfyr leqnk; dk gS] mPp tkfr;ksa ds cPpksa esa ls yxHkx vk/kksa dks muds ek¡&cki 

Hkkstu djus dh btkt+r ugha nsrs gSaA QyLo:Ik Ldwy esa cPpksa dh mifLFkfr rst+h ls ?kV xbZA blds ifj.kkeLo:Ik fnol&e/; 

Hkkstu dh ;kstuk dks lekIr djus vkSj mlds ckn v/;kiu LVkQ dks gVkus vkSj ckn esa Ldwy dks can dj nsus dh laHkkouk iSnk 

gks xbZA 

¼d½ bl la?k"kZ ij dkcw ikus vkSj lgh ,oa lq[kn okrkoj.k cukus dh dqN lk/; j.kuhfr;ksa ij ppkZ dhft,A 
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¼[k½ ,sls ifjorZuksa dks Lohdkj djus ds fy, ldkjkRed lkekftd lq[kn okrkoj.k cukus gsrq fofHké lkekftd [kaMksa vkSj 

vfHkdj.kksa ds D;k drZO; gksus pkfg, \ ¼250 'kCn½ 

You are the Sarpanch of a Panchayat. There is a primary school run by the government in your area. 

Midday meals are provided to the children attending the school. The Headmaster has now appointed a 

new cook in the school to prepare the meals. However, when it is found that the cook is from Dalit 

community, almost half of the children belonging to higher castes are not allowed to take meals by their 

parents. Consequently the attendance in the school falls sharply. This could result in the possibility of 

discontinuation of midday meal scheme, thereafter of teaching staff and subsequent closing down the 

school. 

(a) Discuss some feasible strategies to overcome the conflict and to create right ambience. 

(b) What should be the responsibilities of different social segments and agencies to create positive 

social ambience for accepting such changes? (250 words)             20 

11- ,d izeq[k Hks"kftd daiuh dh vuqla/kku ,oa fodkl iz;ksx’kkyk esa dk;Zjr ,d oSKkfud us [kkstk fd daiuh dh lokZf/kd fcØh gksus 

okyh Ik’kqfpfdRldh; nokb;ksa esa ls ,d nokbZ B esa orZeku esa vlk/; fyoj jksx] tks tutkrh; {ks=ksa esa QSyk gqvk gS] dk bykt 

djus dh laHkkO;rk gSA ijarq ekuoksa ds fy, mi;qä :ikarj dk fodkl djus ds fy, cgqr vuqla/kku vkSj fodkl dh t+:jr Fkh] 

ftlesa 50 djksM+ #i, rd dk [kpZ vk ldrk FkkA bldh laHkkouk de Fkh fd daiuh viuh ykxr dks olwy dj ik,xh D;ksafd 

jksx dsoy fu/kZurkxzLr {ks= esa QSyk gqvk Fkk] ftldk ckt+kj cgqr FkksM+k FkkA 

;fn vki lhŒbZŒvksŒ gksrs] rks & 

¼d½ ftu fofHké dkjZokb;ksa dks vki dj ldrs Fks] mudh igpku dhft, ( 

¼[k½ viuh izR;sd dkjZokbZ ds i{k&foi{k dk ewY;kadu dhft,A ¼250 'kCn½ 

One of the scientists working in the R & D laboratory of a major pharmaceutical company discovers that 

one of the company’s best selling veterinary drugs, B has the potential to cure a currently incurable liver 

disease that is prevalent in tribal areas. However, developing a variant of the drug suitable for human 

beings entailed a lot of research and development having a huge expenditure to the extent of 50 crores 

rupees. It was unlikely that the company would recover the costs as the disease was rampant only in 

poverty-stricken area having very little market otherwise. 

If you were the CEO, then — 
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(a) Identify the various actions that you could take; 

(b) Evaluate the pros and cons of each of your actions. (250 words)            20 

12. ,d vkink&izo.k jkT; gS] ftlesa vDlj HkwL[kyu] nkokuy] es?k foLQksV] vkdfLed ck<+ vkSj Hkwdai vkfn vkrs jgrs gSaA buesa ls 

dqN ekSleh gSa vkSj vDlj vuuqes; gSaA vkink dk ifjek.k ges’kk vizR;kf’kr gksrk gSA ,d ekSle ds nkSjku] ,d es?k foLQksV ds 

dkj.k fouk’kdkjh ck<+ vkSj HkwL[kyu gq, ftuls vR;f/kd nq?kZVuk,¡ gqbZaA lM+dksa] iqyksa vkSj fo|qr~ mRiknh ;wfuVksa tSlh cqfu;knh 

lajpuk dks c`gr~ {kfr igq¡phA blds QyLo:Ik 100000 ls T;knk rhFkZa;k=h] Ik;ZVd vkSj vU; LFkkuh; fuoklh fofHké ekxksZa vkSj 

LFkkuksa ij Q¡l x,A ftEesnkjh ds vkids {ks= esa Q¡ls gq, yksxksa esa ofj"B ukxfjd] vLirkyksa esa ejht] efgyk,¡ vkSj cPps] in;k=h] 

Ik;ZVd] 'kkld ikVhZ ds izknsf’kd v/;{k vius ifjokj lfgr] iM+kslh jkT; ds vfrfjä eq[; lfpo vkSj tsy esa dSnh 'kkfey FksA 

jkT; ds ,d flfoy lsok vf/kdkjh ds rkSj ij vkidk vkns’k D;k gksxk ftlesa vki bu yksxksa dks cpk,¡xs vkSj D;ksa \ vius mŸkj 

ds i{k esa rdZ nhft,A ¼200 'kCn½ 

There is a disaster-prone State having frequent landslides, forest fires, cloudbursts, flash floods and 

earthquakes, etc. Some of these are seasonal and often unpredictable. The magnitude of the disaster is 

always unanticipated. During one of the seasons, a cloudburst caused devastating floods and landslides 

leading to high casualties. There was major damage to infrastructure like roads, bridges and power 

generating units. This led to more than 100000 pilgrims, tourists and other locals trapped across 

different routes and locations. The people trapped in your area of responsibility included senior citizens, 

patients in hospitals, women and children, hikers, tourists, ruling party’s regional president along with 

his family, additional jail. As secretary State and prisoners in jail. 

As a civil services officer of the State, what would be the order in which you would rescue these people 

and why? Give justifications.                  20 

13. vki ,d fo’ks"k foHkkx esa ft+yk iz’kklu ds 'kh"kkZf/kdkjh gSaA vkidk ofj"B vf/kdkjh vkidks jkT; eq[;ky; ls Qksu djrk gS vkSj 

vkidks dgrk gS fd jkeiqj xk¡o esa ,d Hkw[kaM ij Ldwy ds fy, ,d Hkou dk fuekZ.k fd;k tkuk gSA nkSjs dh le;koyh cuk nh 

tkrh gS ftlds nkSjku og eq[; bathfu;j vkSj ofj"B okLrqdkj ds lkFk LFky dk nkSjk djsxkA og pkgrk gS fd vki mlls 

lacaf/kr lHkh dkxt+krksa dh tk¡p dj ysa vkSj lqfuf’pr dj ysa fd nkSjs dh O;oLFkk mfpr :Ik ls dh xbZ gSA vki ml Qkby dks 

tk¡prs gSa] tks vkids foHkkx esa dk;ZHkkj laHkkyus ls iwoZ dh gSA Hkw[kaM dks LFkkuh; iapk;r ls] ukeek= dh ykxr ij] mikftZr 

fd;k x;k Fkk vkSj dkxt+kr n’kkZrs gSa fd ftu rhu izkf/kdkfj;ksa dks Hkw[kaM dh mi;qärk dk izek.ki= nsuk gksrk gS] muesa ls nks ds 

fy, gq, vuqefr izek.ki= miYkC/k gSaA okLrqfon~ dk dksbZ izek.ki= Qkby esa miyC/k ugha gSA vki tSlk fd Qkby ij dgk x;k 

gS fd lc dqN Bhd gkyr esa gS] ;g lqfuf’pr djus ds fy, jkeiqj tkus dk fu.kZ; ys ysrs gSaA tc vki jkeiqj tkrs gSa rc vki 

ns[krs gSa fd mYys[k ds v/khu Hkw[kaM Bkdqjx<+ fdys dk ,d Hkkx gS vkSj fd nhokjsa] ijdksVs vkfn mlds vkj&ikj fcNs gq, gSaA 

fdyk eq[; xk¡o ls dkQh nwj gS] blfy, ogk¡ ij Ldwy] cPpksa ds fy, xaHkhj vlqfo/kk gksxh] ijarq xk¡o ds ut+nhd ds {ks= ds 
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foLrkj dk ,d cM+s vkoklh; ifjlj esa ifjofrZr gksus dh laHkkouk gSA fdys esa orZeku Hkw[kaM ij fodkl izHkkj vR;f/kd gksaxs vkSj 

fojklr LFky ds iz’u dh vksj /;ku ugha fn;k x;k gSA ijarq Hkw[kaM ds vf/kxzg.k ds le; ljiap vkids iwokZf/kdkjh dk ,d 

fj’rsnkj FkkA leLr dk;Z&laiknu dqN fufgr LokFkZ ds lkFk fd;k x;k izrhr gksrk gSA 

¼d½ ljksdkj j[kus okys i{kksa ds laHkkfor fufgr LokFkksZa dh lwph cukb,A 

¼[k½ vkidks miyC/k dkjZokbZ ds dqN fodYi uhps fn, x, gSaA izR;sd fodYi ds xq.kksa&voxq.kksa ij ppkZ dhft, %  

 ¼i½ vki ofj"B vf/kdkjh ds nkSjs dh izrh{kk dj ldrs gSa vkSj mldks fu.kZ; djus nsrs gSaA 

 ¼ii½ vki fyf[kr :Ik esa ;k Qksu ij mldh lykg ys ldrs gSaA 

 ¼iii½ vki vius iwokZf/kdkjh@lgdfeZ;ksa ls ijke’kZ dj ldrs gSa vkSj mlds ckn D;k djuk gS] bl ckr dk 

QSlyk dj ldrs gSaA 

 ¼iv½ vki ekywe dj ldrs gSa fd D;k ,ot esa dksbZ nwljk Hkw[kaM izkIr fd;k tk ldrk gS vkSj fQj ,d  

loZlekos’kh fyf[kr fjiksVZ Hkst ldrs gSaA 

  D;k vki dksbZ vU; fodYi mfpr rdksZa ds lkFk lq>k ldrs gSa \ ¼250 'kCn½ 

You are heading a district administration in a particular department. Your senior officer calls you from 

the State Headquarters and tells you that a plot in Rampur village is to have a building constructed on it 

for a school. A visit is scheduled during which he will visit the site along with the chief engineer and the 

senior architect. He wants you to check out all the papers relating to it and to ensure that the visit is 

properly arranged. You examine the file which relates to the period before you joined the department. 

The land was acquired from the local Panchayat at a nominal cost and the papers show that clearance 

certificates are available from the two of the three authorities who have to certify the site’s suitability. 

There is no certification by the architect available on file. You decide to visit Rampur to ensure that all 

is in order as stated on file. When you visit Rampur, you find that the plot under reference is part of 

Thakurgarh Fort and that the walls, ramparts, etc., are running across it. The fort is well away from the 

main village, therefore a school here will be a serious inconvenience for the children. However, the area 

near the village has potential to expand into a larger residential area. The development charges on the 

existing plot, at the fort, will be very high and the question of heritage site has not been addressed. 

Moreover, the Sarpanch, at the time of acquisition of the land, was a relative of your predecessor. The 

whole transaction appears to have been done with some vested interest. 
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(a)  List the likely vested interests of the concerned parties. 

(b)  Some of the options for action available to you are listed below. Discuss the merits and demerits 
of each of the options : 

 
(i) You can await the visit of the superior officer and let him take a decision. 
 

(ii) You can seek his advice in writing or on phone. 

(iii) You can consult your predecessor/colleagues, etc., and then decide what to do. 

(iv) You can find out if any alternate plot can be got in exchange and then send a 
comprehensive written report. Can you suggest any other option with proper justification?  
(250 words)                                          25 

14- gky esa vkidks ,d ftys ds ft+yk fodkl vf/kdkjh ds rkSj ij fu;qä fd;k x;k gSA mlds ckn tYnh gh vkius ik;k fd vkids 

ft+ys ds xzkeh.k bykdksa esa yM+fd;ksa dks Ldwy Hkstus ds eqís ij dkQh ruko gSA 

 xk¡o ds cM+s eglwl djrs gSa fd vusd leL;k,¡ iSnk gks xbZ gSa D;ksafd yM+fd;ksa dks i<+k;k tk jgk gS vkSj os ?kj ds lqjf{kr 

okrkoj.k ds ckgj dne j[k jgh gSaA mudk fopkj ;g gS fd yM+fd;ksa dh U;wure f’k{kk ds lkFk tYnh ls 'kknh dj nh tkuh 

pkfg,A f’k{kk ds ckn yM+fd;k¡ ukSdjh ds fy, Hkh Li)kZ dj jgh gSa] tks ijaijk ls yM+dksa dk vUkU; {ks= jgk gS] vkSj iq#"kksa esa 

csjkst+xkjh esa o`f) dj jgh gSaA  

 ;qok ih<+h eglwl djrh gS fd orZeku ;qx esa] yMfd;ksa dks f’k{kk vkSj jkst+xkj rFkk thou&fuokZg ds vU; lk/kuksa ds leku volj 

izkIr gksus pkfg,A leLr bykdk o;kso`)ksa vkSj ;qokvksa ds chp rFkk mlls vkxs nksuksa ihf<+;ksa ls L=h&iq#"kksa ds chp foHkkftr gSA 

vkidks irk pyrk gS fd iapk;r ;k vU; LFkkuh; fudk;ksa esa ;k O;Lr pkSjkgksa ij Hkh] bl eqís ij xjekxje okn&fookn gks jgk 

gSA 

 ,d fnu vkidks lwpuk feyrh gS fd ,d vfiz; ?kVuk gqbZ gSA dqN yM+fd;ksa ds lkFk NsM+[kkuh dh xbZ tc os Ldwyksa ds jkLrs esa 

FkhA bl ?kVuk ds QyLo:Ik dbZ lkekftd lewgksa ds chp >xM+s gq, vkSj dkuwu rFkk O;oLFkk dh leL;k iSnk gks xbZA xjekxje 

okn&fookn ds ckn cM+s&cw<+ksa us yM+fd;ksa dks Ldwy tkus dh vuqefr u nsus vkSj tks ifjokj muds gqDe dk ikyu ugha djrs gSa] 

,sls lHkh ifjokjksa dk lkekftd cfg"dkj djus dk la;qä fu.kZ; ys fy;kA 

¼d½ yM+fd;ksa dh f’k{kk esa O;o/kku Mkys fcuk] yM+fd;ksa dh lqj{kk dks lqjf{kr djus ds fy, vki D;k dne mBk,¡xs\  

¼[k½ ihf<+;ksa ds chp laca/kksa esa lejlrk lqfuf’pr djus ds fy, vki xk¡o ds o;kso`)ksa dh fir`ra=kRed vfHko`fŸk dk fdl izdkj izca/ku 

dk vkSj <kyus dk dk;Z djsaxs \ ¼250 'kCn½ 
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You are recently posted as district development officer of a district. Shortly thereafter you found that 

there is considerable tension in the rural areas of your district on the issue of sending girls to schools. 

The elders of the village feel that many problems have come up because girls are being educated and 

they are stepping out of the safe environment of the household. They are of the view that the girls should 

be quickly married off with minimum education. The girls are also competing for jobs after education, 

which have traditionally remained in boys’ exclusive domain, adding to unemployment amongst male 

population. 

The younger generation feels that in the present era, girls should have equal opportunities for education 

and employment, and other means of livelihood. The entire locality is divided between the elders and the 

younger lot and further sub-divided between sexes in both generations. You come to know that in 

Panchayat or in other local bodies or even in busy crossroads, the issue is being acrimoniously debated. 

One day you are informed that an unpleasant incident has taken place. Some girls were molested, when 

they were en route to schools. The incident led to clashes between several groups and a law and order 

problem has arisen. The elders after heated discussion have taken a joint decision not to allow girls to go 

to school and to socially boycott all such families, which do not follow their dictate. 

 
(a) What steps would you take to ensure girls’ safety without disrupting their  

education? 
 
(b) How would you manage and mould matriarchic attitude of the village elders to  

ensure harmony in the inter-generational relations? (250 words)          25 
 

 

 

 


